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SCIENCE & SOCIAL SCIENCE (sysilailnd wHnnb saps sqrilalnid)

TNTSE
MODEL QUESTIONS (ondifi Casteflae)

Physics (@WDLILIED)

The units of mass, length and time are kilogram (kg), metre (m) and
second (s), respectively. In terms of these, the unit of surface tension is

A) kg m/s?

B) kgm/'s

C) kg/s?

D) kg/ms
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A particle starts from rest at time t = 0 from the point x = 0, and moves
to the right on the x-axis. It comes to rest again at time t = 1 at the point
x= 1. The particle accelerates uniformly fromt=01till time t = %, and

then deceleration uniformly till t = 1. Select the correct velocity — time
graph of the motion of the particle.
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A stone of mass 3 kg is dropped from rest from a height & above the
ground. Air resistance may be neglected, and the acceleration due to
gravity 1s g = 9.8 m/s’. When the stone 1s at a height ;ﬁ above the
ground, its kinetic energy is 784 J. The height h is equal to

A)48 m

B) 80 m

C)9 m

D)128 m
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Dy 128 8



4.

1 mole of an ideal gas of initial volume V; and pressure Py undergoes
an expansion to a final volume V2 and pressure P;. The absolute
temperature of the gas remains constant during the process. Select the
correct pressure — volume graph representing the process.
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A length of wire has a resistance R. The wire is cut into 10 equal
lengths. When all 10 pieces are connected in parallel, the effective
resistance is r. The ratio »/R is equal to.
1
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Five resistors, each with a resistance 10, are connected in series with
a 1V battery as shown in the figure.

150 in i1 111 10

v

The electric potential at the point P is equal to
A) 1V

B) Vv
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Two point masses M and ZM are held fixed as shown in the figure.
The distance between them is L. A third point mass m is located on the
line joining the two masses at a distance x from the mass M, such that
the gravitational forces on it due to M and 2M cancel out. The value
of the ratio x / L is

X
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M m IM
. = .
A) 173
B) v2-1
C) 213

D) (V2-1) / (N2+1)
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An object is placed at a distance 2f from a concave mirror of focal length
[ Its image is

A) virtual, at a distance f from the mirror

B) real, at a distance 2f from the mirror

C) real, at a distance less than f from the mirror

D) wvirtual, at a distance greater than 2f from the mirror.

@olwg Gprenevs) [ Getemi.  @flwmngulsspha 2f Garensvaish
Gummblenrain ausaluBl Gurgl o (peum@Gib Libub,
A) spguisdmpbsl [ Gsrsnsnalsd wiu LhbLib

By suguisimbal 2/ Gerenevelsd Gioul 1Jbunb
C) suulsdmba [ & ol @ephs Catanevelst Guouw ibub
D) guuisdmba 2/ oL sfss Garasalst wrw ibub



9.

A heater coil with a resistance of 3.5 k€2 carrying a steady current is
immersed in 20 kg of water. The heater raises the temperature of the
water from 30° C to 80° C in 5 minutes. Given that the specific heat
capacity of water is 4200 J/kg/K, the current in the heater coil is

(A)
(B)
(€)
(D)

1A
2A
3A
4A
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TNTSE

MODEL QUESTIONS (onf)ifl Casrafasn)
CHEMISTRY (CeuBullwien)

The reaction in which heat energy is supplied to complete the reaction is known
as

A) Exothermmic Reaction

B) Electrolytic Decomposition
C) Displacement Reaction

D) Endothermic Reaction

en GCaBldlamaraw Blmpa QFLW, Galiu AnHme sriuG@Bps
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A solution of 0.5 millimole of barium chloride, when mixed with excess of silver
nitrate solution, results in an insoluble white substance which is precipitated, The
type of chemical reaction and the amount of the substance formed are

A) Double displacement reaction — 1 milli mole
B) Single displacement reaction — 2 milli mole
C) Single displacement reaction — 3 milli mole
D) Double displacement reaction — 0.5 milli mole

0.5 Wil Guomey syeneyeiten CuUIlwb GEATTENTR SeTFan, BES
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Qeuctmemflp eflemen@unmer efpLugeans 2 BaurBps aafld RHS
GouE aflemen wileir euema WHoD 2suallener Qummeler 2iemeay,

A) @rLsnl GLUQuUWTER silemer - 118l6bell Gomeb
B) @menm GLUGuUWiEs allemerr - 2 Weushl Gomey
O ghenm @LUQUWHER ailemer - 3 Wsbed Sinmey
D) @rlenL @LUQUWTES eflener - 0.5 Lil6uedl GLome.



Pain caused by indigestion in the stomach is mainly due to
A) Sodium hydroxide
B) Sulphuric acid
C) Magnesium Hydroxide
D) Hydrochloric acid

giflwmenr Qerfliomerih @sveurs Cumg auulholley ghu@EID suedl&amer
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Four reactions are given below. The reaction which is balanced and identified with
the correct name is

A) Mg+Cl.  —% MgCl ; CombusiionReastion
B) HgO + Heat —* Hg+0.; Oxidation Reaction
C) Na+85 —* Na;S : Reduction Reaction

D) CaD+5Si: —» (CaSi0; : Combination Reaction

BreTE CaBdlmarsst BEp GsmBésuul@earerar.  Geuhile
srflwrenr QUWF GEmesL Fner Qe Wil L CauE allemerimeans.

A) Mg +Cl —* MgCl ; eafige allaen

B) HgO + Heat —* Hg+0:; siafigGanpp afenar
C) Na+S —* Na:S | ghszailaen

D) CaO0 +8i0y —» (Cabi0y | OGeddens allamear

Among the four reactions given below the one which is balanced and identified
correctly by the phrase next to it is

A) CH;+ Oq —» (C0; +H;0 ; Law of nature

B) CH:+20; —» (CO:+2H:0 ; Law of conservation of Matter
C) CHy+ 0; _— 2C0,+H:0 ; Law of conservation of gases
D) 2CH;+0; — CO;+H;0: ; Reduction of methane
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A) CHa+ Oz —+  CO: + H:0 ; @Auhens el
B) CHi #+20: —» €Oz + 2H:0; QuirgsetoTen D Slwir efl §
Q CHi+ 0 _» 2C0;+H:0; amysésaflear afwn el
D) 2CHs+ 02 —» CO2+H0; ; f&esar @B &Es ailansr

The number of moles present in 42 g of N, is

A) 1.2 moles

B) 1.5 moles

C) l.6moles

D) 1.4 moles

42 §l N; - v e_grer Guomsuaeaflsn eretoremtlsenss

A) 1.2 Cuomevser

B) 1.5 Gumeusen

C) 1.6 Guomsueser

D) 14 Guomser

Among the following, the correct match for all four entries in each of them is

A) 1. Blue vitriol a) CuSO4 SH.O
2. Green Vitriol b) FeSO.7H:O
3. White Vitriol ¢)  CaSO4.2H:0
4,  Gypsum d) ZnSO4THO
B) 1. Blue vitriol a)  ZnSO.TH,0
2. Green Vitriol by FeS04.TH.O
3.  White Vitriol c)  CaSO42H0
4.  Gypsum d) CuS045H:0
C) 1. Blue vitriol a) CuS04 5H:0
2. Green Vitriol b) FeS0.TH:0
3.  White Vitriol ¢) ZnS0.THO
4. Gypsum d)y CaSO0.2H:0
D) 1. Blue vitriol a)  CaS0.2H,0
2. Green Vitriol b)  ZnS0..7H;0
3.  White Vitriol c)  FeSO4.TH,O
4.  Gypsum d) CuS04 5H:0
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A) 1. Bevallflwwmes  a) CuSO0s SH.0
2. uFeng el Muwrsd b) FeSQ,.7H,0
3. Geustremen sl fursd ¢)  CaS0s2H:0
4. gk d)  ZnSO.7H:0

B) 1.fev el fusmsd a)  ZnSO.TH,0
2. ubes AU b)  FeS0.7HZ0
3. Gaugitenen el fiwmsd ©)  CaSO.2H:0
4, g d)  CUSO.S5H:0

C) l.pe ailfuwmsd a) CuS04 5H:0
2. uFms el fwsmsd b}  FeS0.TH:0
3. Geushiamenr el fumsd ¢)  ZnS0.TH:0
4. gilisb d) CaS04+.2ZH:0

D}  l.pgee el fursd a) CaS04.2H;O
2. uFeng el fwnsd b)  ZnS0O,.7H;0
3. Geustiamen @i flumred ¢)  FeSOLTH;O
4. gillimin d)  CuSQOs 5H;O

8. Element ‘X' forms a chloride with the formula XCl;, which is a solid with high
melting point. X i3 in the same row of the penodic table. It is

A) Fe
B) Mg
C) Al
D) Si



9.

10.

X ereip sefos XCly 6T60TM ppedsmn UTULTE eerer s o m@GHlanw
Glanedir. Bafreo & Carmeano6l L. o mrauns @S ngy Cosyid X e G600 aifiens
S L susnsmdled R Camfied @i Quppierag: N saflwid

A) Fe
B) Mg
C) Al
D) Si

The percentage of oxygen in Magnesium sulphate, (Atomic weight -Mg=24;
$=32; 0=16)

A) 64%

B) 32.65%
C)53.33 %
D) 47.50%

Quéat®und sGuiiysd s Hifgaliar szalst, (g Beop Mg=24;
§=32; 0=16)

A) 64%

B) 32.65%
C) 53.33 %
D) 47.50%

Two reactions are given below

2 NaCl (aq) + F: (g) —2*NaF (aq) + Cl: (g)
2 NaF (ag) + Cl: (g) —2MaCl (ag)+ Fa (g)

The reaction that happens as written and the explanation given are correct
for

Fluorine is more reactive.

A) First Reaction

Chlorine is more reactive.

]

B) Second Reaction
C) First Reaction - Chlorine has a larger molecular radius.

D) Second Reaction

Fluorine 1s more electropositive.
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@ GaBallmamaar B3 blan@Esuu @ arener:
2 NaCl (aq) + F2 (g) — & NaF (aq) + Cla2 (g)
2 NaF (aq) + Ch (g) —2NaCl (aq) + F2 (g)

BEis @Al Gareriig. flsyp Sy w afenass e siiwnes allengsi,
A) e aflenew - enfieh sEls allwer Slper Glarewe.s.
B) Qo afisnen - @Baadisnr 8s aflenan Giper Gla e g
C) upge aflenar - & Gamnflen B apevs ey smb Glamam g
D) @b afenes - Yepiish syBe Cpiflssr gesrenw Clanes g

Crystals of FeCl, are deliquescent when exposed to atmosphere. Deliquescence is
maximum at

A) High temperature and high humidity
B) Low temperature and low humidity

C) Low temperature and high humidity
D) High temperature and low humidity

FeCl; ugsniss awaflwan_as smpsr Gsmiy Garsmass Cung widens
o PlesF senguyih perenis o en_wenay. Fyb o NiEhFd senugs wBswas BEup
@ L fleneu g,

A) yBa Gardufens wppid sBs aafloesri s mrousd

B) senpgs Caiuglea iy @enpss araliwesim_a FruLg.

C) sonps Gadupeaa wdpid syFs el eiia FTLLIS

D) w8a Qauduglens ioppid @enn s sualloew_ FrLiLigLh.
The Bohr radius of hydrogen atom is

A) 107 m

B)0.53 x 100" m

C)0.53x10%m

D) 1.0x10°m



12. evant’ mggsir sysmyaflsir Gund (Bohr)gyms
A) 1078
B) 0.53 x 10948
C)0.53x 10
D)1.0x 1078

13.  The number of moles (or gram atoms) of oxygen atoms in potassium dichromate
is

A) 6.022 x 107

B) 3 x 6.022 x 10~
C)5x6.022 x 10%
D) 7 x 6,023 x 107

13. 9@ Gumed Burlirfwiw gGrmBuiysd e Hefgear saysaafiar Gumead

crssanligons syshoug Byb sy es sienrenisens.
A) 6.022 x 10%
B) 3 x 6.022 x 10#
C) 5 x 6.022 x 10*
D) 7 x 6,023 x 10*
14. One or more of the following statements are correct.
i. Maost carbon compounds are good conductors of electricity.
ii. Most of the carbon compounds are poor conductors of electricity.
iii. Force of attraction between the molecules of carbon compounds is not very
strong.
iv . Force of attraction between the molecules of carbon compound is very strong
The correct pair of statements in the above is
A)ii and 1v
B) ii and iii
C) 1andiv
D) i and iii
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A) il wpgeh v
B) ii wppub iii
C) i wogus iv

D) i wppiis iii

CH3

I
15. The IUPAC name of CH3 - C-CH2 - OH

|
CH3
A) 2-ethyl- 2- methyl butanol
B) 2,2~ dimethyl propan-i-ol
C) 1,1,1- tri methyl propanol
D) 2,2- methyl butanol



CH3
I
15, CH3- C-CH2-OH-e [UPAC Guush.
|
CH3

A) 2- adgler-2 — Guodadled Llup’ Leans,
B) 2,2- eoL. Guogfied L ~1-gued
C) 1,1,1-1gany Guosaed LiiemTed
D) 2,2 - GichFad 1Tyl 1 emmen.

16. During breath analyzer test conducted by policemen to identify drunken drivers,
the change in colour and name of the substance used to detect alcohol is

A) Orange to green - K:Cr:04
B) Green to orange - CuS0,
C) Blué to green - ZnS0Oy
D) Orange to Blue - KEMnO,

16. gy uﬂ[{m‘iﬁﬂﬂl_.@ QUTEENLD gl_@umnmm e filur a:rmm;mm BL-SSILD apda
uguumiey Gergmeandsd gasaniow save o e s Gurmeier g

DI S B ioTppLi
A) spehs PpsBmss udmsurs - KiCr0Os
B) usamalellinis pmoess fpwrs - CuS0O;4
C) fa FpsRefmras usemsuns - ZnSO4

D) syrais flosPSmpg feowns - KMnO,



17. The species that are oxidized and reduced in the following reactions are
2ZKMnO; + 10 FeSO4 + 8 H:SOy — K804+ MnSO, + 5 Fex(S04); + 8§ H.0O

A) Mn is oxidized and Fe is reduced.

B) Mn is reduced and Fe is oxidized.

C) Mn and Fe are Oxidized, oxygen is reduced.
D) Mn and Fe are Reduced, oxygen is oxidized.

17. Bysset_ affmanial peefewlapol wipnh s@fst eyt Gl
@ ewmissm

2KMnO4 + 10 FeSO4 + 8 Ha8Q: —+  K:SO4+ MnSO, + 5 Fea(S04)s + 8 H,O
A) Mn gdebiggGanpnpu syen_&Epgi inppid Fe s@daw spenl Sns.
B) Mn p@ésu syeo Bpgr wppus Fe yéatimGappis s Rpg
C) Mn wppié Fe ssaflmGanpnit sent Beipen, siPmar o@sab

et Eng.
D) Mn wpgii Fe g@asd sy Rdpen, pafmar gpaatimCanppu
Sene_Enai.
18. Identify the correct match for all four entries in the following four options;
A) 1) First Period - 1) Atomic number 1te 2 and 2 elements
2) Second Period - b) Atomic number 3 to 10 and 8 elements
3) Fourth Period - ¢) Atomic number 19 to36 and 18 elements
4) Sixth Period - d) Atomic numbe 55 to 86 and 32 e¢lements
B) | First Period - 4) Atomic number 55 1o 86 and 32 elements
2) Second Period - b) Atomic number 3 to 10 and 8 elements
3) Fourth Period - ¢) Atomic number 19 to 36 and 18 elemenis

4) Sixth Penod - d) Atomic number | to 2 and 2 elements



C) 1) First Period - a) Atomic number 55 to 86 and 32 elements
2) Second Penod - b) Atomic number 19 to 36 and 18 elements
3) Fourth Period - ¢) Atomic number 3 to 10 and 8 elements
4) Sixth Penod - d) Atomic number | to 2 and 2 elements

D) 1) First Period - a) Atomic number | to 2 and 2 elements
2) Second Period - b} Atomic number 55 to 86 and 32 elements
3) Fourth Period - ¢) Atomic number 19 to 36 and 18 elements
4) Sixth Period - d) Atomic number 3 to 10 and 8 elements

18. Aamu@pu praig soaysaia prang sami@ssst sfurs QurmsBuyarstas
FawL_Mia .
A) 1) s Qg = 3) syey eresw [ psad 2 ey 2 even 2 Sesiiosis el

B)

C)

2) @awaLmb Ggrg - b) ey eresy 3 apaed 10 suswy 2 airer § gefliomisear
3) porarsmd Gigrg - C) ojeay sraw I9apEe 36 ausnr o avar 1§ 5efwomis e

4) supmd Qmm i - d) s ere S5upsel 86 aueny 2.aven 12 pallcdsar

D gesed Qamg - &) sigm stei 550560 86 areng o_airen 32 gedosiser
2) @rsmé Gsm_g- b) samy el 7 wpgel 10 eusny asiten 8 safiLomissr
3) postrsms Gpmg -<) Sjemy eresi [9psel 36 ausng _siten 18 Bailosiser

4) somb Glam_g - d) sy erenir | (1psed 2 aueny o_éiren 2 el o miset

1) wossd Qsm g - 1) gl sresr SS(pBEd 86 sueny o siren 32 sefiomisar
2) @oedr_mi Glgm g - D) sygmy ey {9psad 36 suswy o_eiran 18 g aflLosis e
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4) pomo Qamg - d) sysmy srenr | uoged 2 suen g 2 ciren 2 el Lomisar



D) 1) upged Gamd - a) ysm stesw | 1pssd 2 ausng aoairen 2 gellio e e
2) @redm_mb Gmm_g- b) ayamy evesw 55psed &6 auaniy o aver 32 gesflinm s
3) mrewrams Glgmg - c) gy sren | Iupgel 36 susn a_siren 18 wexfLo s & eir

4) gomb Qerg - d) syggy st 3 (psed 10 sueny = airan § gafins st

19. Four options are given for the statement “Like dissolves like™
1) Non-polar compounds are soluble in non-polar solvent
1i) Non-polar compounds soluble in polar solvent
iii) Polar-compounds soluble in polar solvent
iv) Polar compounds soluble in non-polar solvent
The correct options are
A)iandii
B) iii and iv
C)ii and iv
D) i and iii

19. ‘gss sanrblung s gEs sepLiunalled sarBpgl’ sTeTn #DpISE apn e
spaysar Qarhasion G arerer,

1) wpenemyprd Gedwsiser woemampt samylunais saflBsd samr@ns:
i) gpewemmpnd Gedwmss wpeneraipib sengLiLTefied sralBe s ns:.
iil) goenswnymid Gediomlast @penamypih senpliurefls) sraflBed sengRps
Iv) wperamypb Gaginmisst wpeamyn sengLiumefs sral Bl senoBng)

Bme siiwman alsni s

A) 1 whmb i
B) il whpeb v
C) 1 whHmbd iv

D) i b i



20. The right choice among a, b, ¢ and d with all four matches are cormrect is

A) 1) ionic bond a) NHy —» BF:
2) covalent bond b) NaCl
3) coordinate bond ¢) Cl;
4) oxidation agent d) CraO5™
B) 1) ionic bond a) Cr,0*
2) covalent bond b) NaCl
3) coordinate bond ¢) Cls
4) oxidation agent d) NHy —» BF;
C) 1) ionic bond a) NaCl
2) covalent bond b) Cl:
3) coordinate hond c) NH: —» BF:
4) oxidation agent d) Cr;0.*
D)  1)ionic bond a) Cls
2) covalent bond b) Cr-0+*
3) coordinate bond ¢) NHi—»BF;

4) Oxidation agent d) NaCl

20. AB,Cuapp Dasam preny Guimsshsaisn siursl Gurnmbsdusngs Baivey
G,

A) 1) swweid dememing a) NHs —» BF;
2) sl Tensmili b) NaCl
3) wmet Lememitin ¢) Clz
4) suafmBais d) Cr;07*
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21. agmammee s H:S0; e et 443 K &5 GaululuGhssd GCurg.e_meamgsb
alenemoLmmenen LGImMbaE Buplamen alenalenil Hewi. 1S,

B)

C)

D)

1) susilds (Fenemri
2) =0 (Tenening
3) st Tememin
4) susdgGapy

1) spuefits Hepeoniny
2) #al isneniny
3) mged isosoning
4) sy
1) sl Slenssin
2) &l Uenesmiin
3) mgsb Tanemiliy
4) aysd Gy

a) Cr,O7

b) NaCl

¢) Cl

d) NH;— BF;

a) NaCl

b) Cly

¢) NHy — BF:
d) Cr;0+*

a) Cl»

b) Cra0+*

c) NH;—BF;
d) NaCl

When ethanol is heated with concentrated H;S0; at 443 K, name the product
formed and identify its reaction with Bromine water.

A) Ethane + decolonized

B) Ethanol + No colour change
C) Ethene + decolorized

D) Acetic acid + No colour change

A) wpBmeit + pBimbipsBng
B) aigemet Biporpph @ebeeo
C)wpgai  + Ppifipsbspgi
D) sidiigs sufien + Bpomhmd Seame



l-r

2.

TNSTE

MODEL QUESTIONS (lomflifi Caenelisen)
BIOLOGY (2-udlfflwe)

Which of the following is a member of class Pisces?

A)
B)
C)
D)

jellyfish
Catfish

Starfish
Hag fish

Hetreumeuawaupmiet el Bersst auElienUs CElBEs?

A)
B)

)
)

Ggzeuedl et
Qegss bear
BLESS T Weir
GCams e

Pick up the correct statements from the following

A)
B)
C)
D)

Heparin helps in clotting of blood whercas Hirudin prevents it
Hirudin helps in clotting of blood whereas heparin prevents it
Both hirudin and heparin prevents blood clotting

Both Heparin and Hirudin helps in blood clotting.

B asanLahoed Fflunar sahenm CETHOsH &ML

A)

C)

D)

Rapuunflér Rossh Lopsses csauBos e
@MUSsL e anpsmn SHEEDE

anflmesr QUEs0 2 mnsuEE e sa B s Qanuunfis @résib
2 aNmEHame SHEEmaE.

e e whmb Qanaurflear @ranGan rssid 2 ansene
s5O&ESDS.

o whgith Qamuiurflsr GranGien RUESED 2 ansauss
2 sHeBIms.
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3.

How do animals without hemoglobin in blood transport oxygen?
A) by glycolysis

B) by diffusion

C) by WBC

D) by platelets

QrsssBe aftungeanilar sibm eulflarmisst Naramh abs
Flabeflelr ppeuib gudEeadiganar &L 55 S armear.

A)  EenardsnsiiFisu

B) UDeYSe

C) @SS CeUGTENET 2| Sl SHeT

D) QAUSSSLESHE

An organism has eytoplasm, DNA and RNA but no cell wall is
A) cyanobacterium

B) mycoplasma

C) lactobacillus

D) Streptococeus

snsFLCLmSlarmaih, 19 ereir.g. oM mih S 17.CTET.q.-eneu CETETITL. ST,
QFQ sl DM & -ulilflsmnb.

A emsFwCarmumdieflwih

B) emw&Casrmllermsuwnm

0 Ga&sBLTeuRsdesy

D) euLQpUELT&ETESE

Fraternal twines are formed after the fertilisation of
A) Two ova by two different sperms

B) one ovam by two different sperms

C) Two ova by one sperm

D) one ovam by one sperm



6.

S@aOsEE U CaupulL @rliamuwiss e pamushs
S&MeRTLOMET (§)emeorsy

A) GBI SIWUTL QFLSEET @05 CeumiuiiL ol [F S s s e L 0T
B) SO L QFa G Caumil L aflfhseamms s en L e

C) S AR OFL S ol HHEmaL T

D) 8O L CFD e oflbhsgEmia s

A Former decided to introduce a disease resistant paddy which of the
following technigues would you suggest him ?

A) Genpetic engineering
B) Hypridization

C) Gene cloning

D) Gene mutation

em sausmull Gpml ¢BTUYys Bper QararL. UBW QB ums
garann fipsliu@ss dpbyBpry galld, supss Briusda
Bpd savLauppas ahs Gsmdléd plu wapeow uflbsiens
QEFwefissT?

A)  wry eunrpfiufiwey

B) ssuuder wenm

C) gletr @&Carmenfin

D) gler #HIS WTHMLD

Identify the characteristics of pea plants which was not used by Mendel in
his experiments

A) seed colour

B) Sced shape

C) Pod Length
D) Flower position

QuemTLsy ULLmenf] Qrgulldh gara sylassEns UwearUBESTS
ListoTem L ssevorL il s

A) sfilemguiledr Mimib
B) eflenguiler sutgeulh
C) sefluSletr Barib

0 weuiflel 2ieminell_th



9.

10.

Select the tissue responsible for sideway conduction of water in branches
of large trees

A) xylem vessels

B) xylem parenchyma
C) xylem tracheids

D) =xylem fibres

euflu nrmseldar Bimasemss oy LESUTLLW SLESIMNSDE
snyewTomer Blaaa CsTHEOsHEEaD

A) eNFsUID &P MLUGET
B) enFsuld LaEmsnELn
C) sm&suld Lp&sBE s
D) SNEEVID [BITTEET

A drug used for blood pressure and as antidote for snake bite, extracted
from one of the following, is native to the Indian subcontinent and East
Asia

A) Rauwolfia serpentina
B) Aloe vera

C) Carica papaya

D) Ocimum sanctum.

Brés SWwsHsEHHe LWaTURSSULOL S LGHS> UTDY BLES
wrho uEEsts QFruluGEns. BFEEW SaoetrdsaurLd WHoID
Bwés aFfwuroa widsorss Qsrar. @hs LEHS Saraugnb
garfld ohz Ifs0sGe&sLu@RDS.

A)  Fleusr gyeusi@umml (reysuSum @&y LI 6T LG suTIT)

R  &shorenw (G allgm)

) wouref ( srdfler ulumwm)

D) ST (o FTmiLLD)

Choose the correct order with respect to foetal development

A) Fertilization - cleavage -blastulation-implantation - gastrulation
B) Blastulation - implantation - Fertilization - ¢leavage -Gastrulation
C) Immplantation - Fertilization - Cleavage - Blastulation - Gastrulation

D) Fertilization - implantation - cleavage - Blastulation - Gastrulation



10.

11

s auaTTEFlenw Qummss Frlwmear suflameanw C5THOs0HSEaLh.

Al sEmansa - Aagsi - SEmECeTangs - uESss -
CHEUL IR MR ITEESLD

B) &SH&GaETaLNS - UBSHN - SHanse - arsse -
CaHEVL HeuTaUmESLD

) uBlgss - smeymsn - Uleaiss - smeECENaTnngs) -
GHENL_mENTRIMESLD

D) BGUODISH - UESHH - Uaiss - SmECHTanongs -
GEE L [meUTeUMES&LD

Choose the correctly matched pairs

i)  Leptotene
i) Zygotene

chromosomes became invisible

pairing of homologeous chromosomes

i) Pachytene

dissolution of the synaptonemal complex takes place

iv)  Diplotene Chaismata is seen

v)  Diakenesis - Terminalisation takes place
A)  i&a
B) ii&v
C) m&iv
D) ii&iii
WSlersumsusmeu ey #flwmer ensoranu CHTHOHHESLD.
i) QeuliGL Mg - BEonCumEFmd wenpSaTmer
i) eNSHEET Qe - @FEos @CINCLIeEn b g
CmmgirSermer
i) GG - BEITETCETDHET WRe&ENHES CuUma D

Sjenolienil) @ umEler e
BoEEET SasHe B GuDE D,
&5\ @enpEan G e DS e

i

i) OGeTmesr

v) enLwimenseafl&Eeu

A) i&ii
B) &y
C) i &iv

D) ii&in



12. Interrclate the appropriate statements about the formation of
parthenocarpic fruit

i)  Auxins is sprayed on flower

i) Auxins is sprayed on fruit

iif) Gibberellins is sprayed on flower
iv) Ethylene is sprayed on {lower

A) i&ii

B) i&iii
C) ii&kiv
D) n&in

12. smaypresafl e pargh fispaal Qurmss € bt bhoe
QUTHS ST ) DISESHT QSTLT UL H515.

) Wesaflar s o sFarmea QOgallgEHa0
n  saflsafler i uEsRass Ogafllssa
i) Wasallar fg gluradar Qaallgse
iv) sl S asheidar Gaaflssa

A) i&ii
B) & iii
C) ii&iv
D) i & iii

13. Pineapple plants produce flowers less frequently. Which combination of
hormones can be applied to artificially induce Mowering in pineapple
plants throughout the year to increase yield

A) Auxins and ethylene
B) Gibberellins and cytokinins
C) Gibberellins and abscisic acid

D) Cytokinins and abscisic acid



13. oiereorm® graugih g YESoE JUESN B (HanssauGdameu.
ahs anmieundrsalsa QFTEGUeU LWSTUGSE WiHHH [Flsbansu
QEwhsmswWrs Sneor(heusar aApaulh s WipsugIh o) soreorim & ulleir
sdilenendFan B aflésamb?

14.

14.

A)
B)
)

D)

S EF st whpih o758 edl st
slLrsushleirsa Wwhmih enaGL meam & efl et e
f| umebelleiraseT ommuth 2UFF & gydeub

e CLransslldrss wihopb UFF& sidsuih

When we do exercise the muscular actions will be

A)
B)
©)
D)

Smoeth muscle contract and pull the ligaments
smooth muscle contract and pull the tendons
skeletal muscle contract and pull the ligaments
skeletal muscle contract and pull the tendons

e LnullH& GFluyh Cung Hlb SanFaealler §) WaE0mearg

A)

B)
C)
D)

QD ETEMIOLTENT HeaEFSHET S(HME SanF [BmTser
& p S &L Sietr (e

QUOETENIOWITET SMESHET &HE QLT meTaa @uwsstiuGBsarmear
esDL&SmESET AR s Frisd GupdéssludBarmen
SEDLSSmEseT &HES O L&l mar&sT @upssuu@ Biarmer



—
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CIVICS ((GlosmLouilwised)

The following organization is not exempted from Right to Information Act
A border security Force
B Cantral Reserve police force
C Intelligence Bureau

D Home guards

saausy sifiujh  eflen sULSH0 BinbH Spsan. smolyse alwsd
Ssvensu,

A ETEUENED UMGISTUL Leml_
B. WS CFlod SMTaUsh LML
C. eeneysd HeD
ST T
MS. Aruna Roy is
A. RTI activist
B. social activist
€. animal welfare activist

D. none of the above
MS, BN (hemTT gl eTeBTLIEu)

A psaeh syfiub e Menwnd QewsbLm L menmy

B. 50108 ayfeusof

c. ellUk@ B ST

0. @eunied agiaib Heoamen.
Zebra Crossing is the

A, way for Animal Crossing

B. way for pedestrian Crossing

C. way for Forest Road

D. none of the above



aflé SLsnal TeTLSI (Zobre crossing)
A sllomI@Sa sTaney sLOLUGHSME UGS
8 HLb& QEsoGeum sTemeamead aLlushers aifl
c &NL{H snane0 UGH
0 Baunfid agenh Hebenen.
Nirvachan Sadan is the head quarter of
A. The Information Commission
B. The Defence Commission
. The Election commission
D. The Tax Commission
BuUrssit SS6iT aEMUG THAT SMEVMDLISLD?
A BHEUSD S EMEIITILILD
B. UMGISITUIL| JiensumLiib
c. Cafasy sy memiLiLh
D. sufi@en gy emewnuLDh
Aam Aadmi is a

A. Regional Party
B. National Party
C. independent politician
D. none of the above
Syih HHA aEUG FG
A LonHley &8
8. CHfw a8
C. &GWL e

0. BeumaRed agiab Eeome.



6. Which one of the following is not a challenge of democracy in India?
1. llliteracy
2. Gender discrimination
3. casteism and communalism
4. political criminalism
A. 2 Is wrong
B, 3 iswrong
C. 1, 4 are wrong

D. none

6 @nsHuralled wssamLA affllsmargnd (paefu Farsafich, £ sauL
anyeniisetied % Seummeng?

1. seealwfiey s

2 umellen um@um(y
1 &N cu@lly FOW QUTHRI&E
4 SITFWE GDDWLIDTSED

A 2 @EUMTEE]

B. 3 SHEUMTsms

€. 1,4 Seupreng

p. @aubificd agapfcanco

7. They exert influence by mabilizing popular suppart through  activities such as giving
patitions, marches and demonstrations.

A. National parties
B. Regional parties
C. Pressure groups
D. none of the above

7. gy Qan@assd, Curmisdr. wHob Siouricmsda Curdm Qewsbun(pes
gosuih s HeTma Hrlins QETaEnssd aaug e QFwusbhumE sieib,
A Copflw sL&
8. b s
C. SPSH Spbadn
0. @eundicd ageyd Eeoane.



8. According to article 100 of the Indian constitution the Vice President can cast his vote

i) tocancel the bill in Rajya Sabha
i) When no members have any right to oppose his decision
iii) If there is tie over the bill in the Rajya Sabha
iv] When there is a need for one vote to pass the bill
a. 1), i), iv)
b. i), 00, i)
e 1), i), )
d. i), 1), i), iv)

8 SpAud smoly slLufifla) 1006 LG HIORT GRLTES Fmeai]
TEFDHlemeouTis: Femg curdans siefd&somn?

i nBsomsmaneuulid s WeeraTame 1&& Qs Ceaustm(BLh em
Hemeouflsd

i) SUGELW (WpyasE afiiy Asfiolss aamsah o fimn e
aemgnib UL F&Hle
iy wesrgnallan s peLlubDp ardla@uy suflamaulld Gréshd
LIL &&&le0
iv) &L wCengnalldh @UUSISE @ aundE WLECW Ceaneal aenm
Hlemeuuile
A, 1), 1), v)
B. i}, i), iil)
c. ), i), v)
o. i), i), i), iv)

9.  The person even when was the Chief Justice of Supreme Court he was appointed as the
President of Indla.

A, Amal Kumar Sarkar [1966)
B. Patan|ali shastri {1551)

C. Hidayathulla (1969)

D. A.N.Roy (1973)



9. o.&§ BHwaimsHen mevemd BRHuSwnres GurheCuns S
@nSwuraller Gn&s semeveugnseayl Hluwblssuuc L.
A) SILOGD GLOM SFTHSAT (1966)
B) UsErEedl smerodifl (1951)

C) QUDISWISHILEON (1969)
D) & €1s8r Ml (1973)
10. Expand COMUCASA
A] Communications compatibility and satellite agreement
B) Cormnmunication compatibility and statistical agreement
C) Communication compatibility and security agreement
D} Communication compatibility and software agreement
10. COMCASA ﬂFiTugd
Ay E&SUGL QFTLIY (ENESSSEsND WDDILD
CewhamssGand GuUUkSD
B). Ssakd Qs iy Hendsssaamn wHmD
Wemefiufiwsh @UuUbHLD
c) &sausd Qi Dewdssssanid WHMILD
ungiamiy @Oubsd
D) SEausd QsMLY Heméssseaano WHIID
CuoenQuiThen UUGBSLD

11. The 42" Amendment of 1976 in the Indian Constitution transferred the five subjects
....._._tu—

A) From central to state
B) From state to central
C) From state list te concurrent list
D) From concurrent list to state list
M. 176 auth ayemgsd CudQamdemiul L 2oy Sidu sipSluioenoiny FUL
Hmsah BHE sIpsO — QBhH —&O WIHOWS.
A BEeu SPHLLD, WMhie e
8) womile spFALID, BEeusET 76
) IR UCigiieh, QUITE LIk wisd
D) QumTg Ul iguiesisb, R UL igiis)



12. The 4Znd Amendment of the Indian € Constitution is known as Mini Constitution
because

i) It refers that people of India are the sources of Indian constitution.
i) Three new words were added like Socialist, secular and integrity
iii) It emphasizes to secure all citizens of India
iv) it refers all fundamental rights and fundamental duties
A) i), iv), i), i)
B) il), 1), 1)
C) ii), v)
D) i), 1), Iv)

12 @iHu smfwed semotflean ag UL AGHHD @ Swfuesninly s
AfwiuGEns qQersmmme

N DS sirfwsoeninilean i 5MmLD
@sHw wiadm adums D5 GHEADS

i),  FWGTOW, suwuFsFmidaemn, @maniun®
SLEW s LS Qenmhed CEIeaUIL L e

i @ Gigwnellst smmis G ndsaanin
UMSETILSNS suediLmidSSms)

v BE soess suiuem s flawnsst woHmb
SlgulaL. sLewasma GHURGEnE
A i), v, i)
B) it), i, )
Cl il )
) i) iv)
13.  Theword "line of control” is

A) the boundary that came to be agreed between
India and Burma (Myanmar)

B) the boundary that came to be agreed between
China and India

C) the boundary that came to be agreed between
India and Pakistan

D) the boundary that came to be agreed between
India and Bangladesh



1B ELGUUTLE Canl’ aemug)
A BnSwuraliD@n uforalib@n G Gw
ghmi&Qameneniul L ersbansiiimgsih

8) @edwrelned Fomalish el Cw

JOmSASETESIIULL fEENEILITEGLD

¢ Sifuralipeb un@svsrafihésh Sal-Cul
JhOEQE&TaeTILLL. qs0anILITGLD

o) @nSwreliD@id st CassfD@d G Gw
GOMEQETAETILLL TELAMAILITELD

14. Assertion: BRICS countries are emerging economies and political power at the regional
and international level

Reason: To be an alternative to Warld Bank and IMF to challenge USA Supremacy
A)  Assertion is wrong and reason s correct
B} Both are commect
€] Assertion is correct and reason is wrong

D) Both are correct but reason does not explain praperly

4. Ssapm: Nsev pr@set O serald wHMID &FjauCsHs
Senelie auenfjhgl Q@ QUTHETTHT] ATHALIED FESHET HGL.
SMYEwND: 2 & aumidl woHnin Fiautss pramu HSLSHDEG 0B
orhpreah  SCQwfés CuondssesHne CUIL WIS
Bmuusmed

A) &Om UM snjed &l

B) Sapp HpD smewmbd Grea@d &

c) &amm &f smaud Heum

D) Sapm wWHMID &Mewd GrawEL &7 SLEWTEL SMTEHYILD
samiimenen sflwmer sllendsd 6060

15. The Chabahar Agresment was signed between which of the fallowing countries that has
led to the establishment of transit and transport corridor

A)  India, Pakistan, China
B) India, Afghanistan, lIran
C) India, Pakistan, Iran

0}  Pakistan, China, Iran



15, UMMy @UULSWLIMS CuTEGaNSS LOHMIL afldsL RseT
gouRss ans BrEsErsHamLC MmasLpsSHL LU Gemeng?

a)  @ndwr. underogmsit, Feorm
B) BpHwr, spuisrefeogner, Fmes
C) @n&Hwr. underogirsd, Fmes

D) un&lerognsit. Fewmm, FETeH



ECONOMICS ( Qummemm&mniid )

1. Minimum support price is fixed by

A) Production of the crop
B) Various costs involved
C) Profit based

D) Investment based

1. GMDHSULE 2GT6] alleney LS
A) uudlijest e pusSlenu S(h&SH0 s G-
B) usbCeup Qscveyssmen S(h&Hl0 ClaEnsin g
€ Seorusmns smeS Qsmeu g
D) (PseBlenL. a@HSHSL Qsnsin_ g

2. Which one among the following is not the factor affecting
purchasing power?

A) Over population

B) Demand for goods

C) Buffer stock

D) Production and supply of the goods

2. U@Ly Himensn UTHls@EW snTemisaisd Geundisd ag Eeamen?
Al SiFle s Agrams
B) QUL SEnsamar Caanel
€) SmrIEgm Ly
o) Quinp _saflen 2 HUEE WLOHDID efily



Match the following (Tamil Nadu’s Special Economic Zones)
a. Chennai

i) landhaikulam

ii) Navalpattu

b. Coimbatore

c. Madurai - iii) Sholinganallur
d. Trichy - iv) Vilankurichi
a b cd

A) i i il v
B) i i i iv
C) i v i i
D) i v i i

QuTBGE5IS (SOIDBTL g6 Qui@peISny SDUL LD CURISE)

a. Qasienen - ) eonangsGenb
b. G&MUIDLSEMT - i) HTUsOUL(®
c. LDGIEN] - i) Gamefifisbe0e]
d. Hip&FS - iv) eflemRighER
a bcd

A) 0 i i v

B) dii i i v

Cy i v i

D) i iv i i



Choose the correct statement

1. The present Indian tax system is based on the ancient tax
system.

2. Income tax was introduced for the first time in order
to meet the loses sustained by the Government on account
of the Mutiny of 1857.

3. Exercise duty is the important direct tax in India.

4. In India almost all the direct taxes are collected by the
Union Government.

A) 1and 3 are correct
B) 2,3 and4are correct
C) 1,2 and 4 are correct
D) 3 and 4 are correct

gflmen sapmisemen Qgfley Qalis

1. shere GhHw eufl (WPEDUITETS|, USTeLUISTN ulf
(LEMDML SHgUUML LTSS CSTauL ).

2. @hHwmalsd (N&AT(NGEONS aihLomsm sulfl 1857-g4 b
el uiysaar FR&L JNEnmesHSen cLpeotd
Clamam(h euglL UL §).

3. @nHwrellss (WEAW waD(s aifl &hRssSTmey
SIS0V G) &ML sulfl YLD,

4. @hHwnalled SL UL simaids Coole euflsEsld et
SITEMEL UG e0l&a0UGEMS).

A) 1 OHmb 3 &f
B) 2 3 wmmib 4 &ifl
C) 1, 2 Lopmid 4 &l
D) 3 WwHmid 4 &fl



Why do more people engage in non-Agricultural occupations?
A) Insufficient agricultural lands.
B) Demand for Agricultural goods is low.
C) Insufficient profit

D) People lost the involvement

afleusmutb. sebeong Qsmifledisd siflsd Cuy FEHUL sTyemD
cTstTem?

A CGurdw elleusmyu Hleorusen Gedsmeo
B) efleusmu QUIGLSEHSS Cameal Gmbe.
c) GunEw Geomub Gevsmso

D) W&ESEHREEG FRUTE @dame

Why is wheat not cultivated in Tamil Nadu?
A) Since our food crop is paddy
B) Because nobody wants to buy wheat
C) Due to lack of seasonal conditions for wheat production

D) Due to high profit in paddy cultivation

SUDHTL gL g6t Ganglenio @y Qeiailamen?
A BUG el uully Qmed asiugmed
B) GCargsmusmu wigsh el eumkisnsgsne
c) Gangen all@easuSnarst SrF Hipsd BsongSred

D) Cmed uuIfleb siHs @eomub Esnl ULSTED



Tamil Nadu has played a pioneering role in bringing about
significant changes in the health and nutrition of

1. Children under six years of age
2. Pregnant women

3. Lactating mothers

4. Adolescent girls

A) 1,2,3and4are correct.

B) 1, 3 and correct 4 are correct.
C) 2and 3 are correct.

D) 1,2, and 3 are correct.

&y sTgmilb WTHenL_ W 8 L edHE0sH Hmh al L 555 Hanewsafish
GOUOLgsés wrhprismenr Ceragn@aGmaga sHlwsh
(WpenGenmig, Lmisn& Qamsin (D smens).

1 &0 MUSHGLULL GLbmngsen

2. sfudiewil Qusioissn

3. UTgM_ (Bb SMLNDTE6T

A @emb umaus Quesdssen
A) 1.2, 3 oM 4 spflwemey Fflwinsmsne,
B) 1, 3 LHOID 4 gpAwsne Fiflimensne.
C) 2 Hmib 3 sswsmel sfliLrsmael

D) 1, 2, WHMID 3 Y&HWemey &FflwiTesiene.

Which of the following industries is not popular in Sivakasi region?

A) Crackers production

B) Safety Matches production
C) Offset Printing

D) Heavy Vehicles Production



8. Spsan_submien g Qzmblsd Sausrfl uGHuTe
HgusuomemSlsbenen?
A ULLT& 2 MHuss
B SUCullg 2 HUES
c) &S @b
D) &EIN& eUTHS 2 LGS

9. Which of the following is NOT a positive impact of globalization?
A) Introduced new technologies and new scientific
research patterns.
B) Globalization increases the GDP of a country.

C) Environmental standards and regulations have been
relaxed.

D) It helps to increase in free flow of goods and also to
increase Foreign Direct Investment

9. &) s@LeunmIEN &g 2 0&SWWITEsedlda CHID GTésLD
Eebemeu?

A)  USw Qambledmilumiser WwHmib Uy sibiailwied
IMUES (Wem&Een BPSILGESSULLL G,

B) @ BM_lgel Qongs o eanpr (@ e mHugdlsami
sifl&féeL

C) &HMIESHLHEL UhHOIL STRGEHD. SLEUUTNESELLD
& 61111 8 S LILIL (1) rrevment.

D) @& UL RS SMLIWHDETED STITEIDTS
siflsflésab e H50HDE.



HISTORY (6ureumm)

1. Observe the Venn diagram.
Find the appropriate answer from the code given below.

Buddhism |

a. Denial of Vedic rituals
b. Believed in karma

c. Lack of royal patronage
d. Followed middle path

Code:

A) aandb
B) bandc
¢) candd
D) danda



1. Qeuelt susnjuL§mg 2 Hm CrméseaL,
&Cp Qan@ésuul@eren @HuiGaafsd @mha QuTmSSLOTaT allanl i
& (Hillg.S&aLb

3l. Gaug FLMIGSMET LOIIHSE

g. &0 85 HOOSmS

8. aive yzvey Gernin

. BE&HST unengenit CeitLimHmisorm

Sl

A) Sl LODIb A
B) & woph G
¢ & woHmb &
D) FF LODMmIb =



2. Anatomical name of modern human

A) Homo Erecters
B) Homo Sapiens
c) Homo Habilis
Dy  Hominins

2. elLmeam FHWNS Halam weafgisen
A) CapnGlom e&Ler
B) CapnGun Celfwse
c) CamnGlom Gamiledlero
D) Geunmifisflesr

3. Anarmy engineer cum civil servant who sold his own family property to
irrigate lakhs of acres of dry land through his project.
Does this incident remind you of any one?

A) Arthur cotton

B) George Frederik Stanley
) PennyCuick

D) Jawaharlal Nehru

3. & pgrsmey Qurdlwimen(bb, Glgsmol uawmen(bd SeraienL il
G@Gbu Qensgsbaemen afiDml Seoig LD (peud LI LFID gos
ysrGlel Beorusener LrFan eusd Qsmamsmellirsd mmdlso].

Bhs UMb o RSERHE WranuTag Byl HHRmET?
A SUTHST ST L6
B) @l  gQLflé ervL mearadl
¢) Quenafieuis
D) geuaumifeonsd GH(n



4. Name the personality who is related to the following.
i. The author of the book Satyarthaprakash
il. His cry was ‘go back to Vedas’

iii. He introduced a ceremony called Suddhi

A) Swami Dayanand Saraswati
B) Vivekananda

C) Raja ram Mohan Roy

Dy Ishwar Chandra Vidyasagar

4. Bpangyid MHepeysenl s QSMLFuUsHL W] wmj?

L &SWNTSs UIgenep aeim Hredlsh uAfwiy
i GalghsEnsE SHLUGCTD 6 (LRSI

i. &58 Qubssms WTDISHEUT

A SQmB FLTahS sTevMS
B) eMGeusneuhgi

C) grgmgmd GLom&es mmil

D) merosuly #h&ly efNGwnEnsy

5. Match the slogan with personality

i. “Do or Die"

ii. “Dilli Chalo”

iil. “Ingilab zindabad”

iv. “Swaraj”
A) Gandhi, Subash, Bhagat Singh, Tilak
B) Subash, Bhagat Singh, Gandhi, Tilak
C) Tilak, Subash, Gandhi, Bhagat Singh,
D) Bhagat Singh, Tilak, Subash, Gandhi



5  Spsramib (PHEEHMES QbEHMLOWIL 6T QUITHEHH5IS.
i Qs 26060 QlEggInig”
il. “Glsvedld@LU UpUu®-
ii. “@eir@eom] RHsTUNS
iv. “SUTTRWLD

A) amhSuig s - surep FHSigCuray - USHAR - Hesl
B) &umelp eHATCUTEY - UEHEAR - SMHEWIGHET - HosT
) Feus] - suren FHHTGUTEL - HNHHILIG ST - L&SER
D) UsHEAM - Heoal] - &Humeip FHATCUTEV - STHEWIY HeT

6. “London Blitz"” referred to

A) Germany’s plan to invade Britain

B) a term used for Germany’s bombing campaign on London
C) code name for secret Britain radar system

D) the name of the fighter planes of Royal air force

6. euamLer Nlefiley  eTemugy

A) OfILLemen sTéEE enslupmibd QgioaNulles S b

B) euanein Wg peLQubn Aniwveaiuls GanG affs
HIEGHPI6S LUFLGSSILLL TG LD

¢) MfLLeflstt g CoLnmy smeluller GHWL @ Quuid

D) gmwed ellwrsartiuanLullser Gumy ellwnsmiseflss Qi

7. Which two nations were responsible for United States of America’s
direct entryinto | and Il world war on 1917 and 1941 respectively?

A) Russia and Japan

B) Russia and France

C) Germany and Japan
D) Germany and France



71817 Loppith 1941 b gewEeeflid  WepCW (WHed LHmID
Goeuimbd 2 esl Gurjsaled sCwfssnalst GChrg MmampehHe
&nysmons G mbs BrH ST

A) JeguIm, gULImes
8) geiguim, (Nymedrery
C) Qgiwed, glimsir
D) Qegiwenfl, Mymetrero

8. Find out the reason for the Santhal Rebellion

A) forced to move out of their home land

B8) not allowed to follow their social customs
C) deprived to education

D) controlled by political groups.

8. &nmhgeoiseisn Aenfsfsanar sjonsms saon(lgssa|W0
A griser yials HLsoms oL@ S Quun Cauaimg
BiubSesiu L Smed
B) &FOsL LRSS aupsshsame Naubm SIEINSESTS ST
c) &sal sHGL 2 flen LNSESIULL HTsd
D) Sipflwe Gpssama SLGUUGSHSUULL ST

9. “Renaissance” —did not mark a define shift towards....

A) individualism
B) spirituality
C) secularism
D) nationalism
5. LOMILEVTES Bpsnamib ahe HILeul L omen HETme
S wirerliLB & SalleLensn
A)  SeiBLI eun&Lh
B) &emfsib
C) LDG&EMTUDMD HeMeNLD
o) Caflwaungid



10. “Common sense is working a powerful change in the minds of Men”
Whose view is this?

A) Thomas Jefferson

B) Lafayette

¢) Cornwallis

D) George Washington

10. Guebuiey wasellss wankisamsd augleuTsar WIMHMESHanso
gouRsslE QansmgmeAmS W hHenLIL &(h5S?
A)  Smoerv Glegunasst
B) eoLmuL
C) &nysieumedlery
D) QY eurafriL i

10. Match (the arrival of European powers in India)

List | List Il
a. Dutch East India Company - i) 1620
b. Danish East India Company - ii) 1605
c. French East India Company - iii) 1612

d. English East India Company - iv) 1668

Code
A) L, v, i, i
By i, i, iv, i

Cy v, dii, i, i
Dy i, 0, v, dii



0. CumGESHS (@hHunals gCGrmuwuiseilss aumams)

UL ig e | U wied 1
. L&s SpsahHu sbluef - i)1620
& CLaflelp SAsSHhHu sbQuefl - ii) 1605
8. s SpsaHAL sbluafll - iii)1612
. QRSCoW AsSAnHS &bl - iv) 1668

A)
B)
C)
D)

il iv, i, iii
iii, i, iv, i
v, Iil, i, ii
il, I, i, Tii

11. “Batavia” is

11

A)
B)
C)
D)

old name of Djakarta

an amazing volcano in Java

An Island in Amboina

the Pearl of the orient in Manila

UL mallwim eTeugi

A)
B)
C)
D)

gamarailenr umpit Quuwiy

greunallsh 2 enen @ SMUS efiosmen
Sibumierr aflsb e sten @@ Heoy
wesfeoraflsa (Lp&al



GEOGRAPHY (Ljefilullwiev)

1. Choose the correct statement.
I. India extends from 8°4’N to 37°6’N Latitudes
and 68°7'97°25'E Longitudes

Il. India is located in the North Western Hemisphere.

lHI. Indira Col is the Southern Point of India.
A) | &Il are correct
B) 1&Ill are correct
C) |iscorrect

D) 1 &Il are correct

1 &G Qanasiul. Geren samiisd sflwrameubeann CaIH0s0 saa D
L @hHwr a4 eul. SIL&h (PSED 376 UL
S ausmyuilgd, 687 SpsE SiE6elD
(e 9725 AYPéEE BT6eML sueny LTaTlLjeTens)
I @HSwr (Wwipemowb auLClns
2ECETNGHECD JUEOLDHSIETEN S,

n. @nsom Gamsy @nSwimellsn Cgetr(Lpeanauiied
SIENLOH G 66T,

A) | mHmith 1 &
B) | LDmih m &l
c] | i@ #4

D) Inbmith n &



2.

2,

Match the

a) The Bhabar Plains

following

1. a zone of unassorted sediments deposited

b) The Tarai - 2. The New alluvium tracts
c) The Bhangar - 3. The older alluvium tracts
d) The Khadar - 4. a zone of excessive dampness
a) b o d
AV 1 2 3 4
By 1 4 3 2
C) 2 3 4 1
Dp 4 1 2 3
Cumhs 515
a) Umug &wtlsuall - 1. LguismauGsSILL (HeTen ClU@GL e & LGS
b) &Omil - 2 Ul susmish UGS
¢} LMRI&T - 34 UenLplLl QUGN 6D Lig&en LGSl
d) &T&T - 4. SESILIGLITET FIOUUSH UGS
a) b <o d
M1 2 3 4
By 1 4 3 2
c) 2 3 4 1
D) 4 1 2 3



3.  Match the following

Agricultural revolution in India

Revolution Products
a. Yellow Revolution 1. Fruits
b. Golden Revolution 2. Oil Seeds
c. Round Revolution 3. Fish Production
d. Blue Revolution 4, Potato
abecd
Ayl 2 3 4
B 214 3
c)3 214
D)4 3 2 1

3. Spssau_suphenn QuIsEss
@ndwnraileht CeusnmsioyL. H&en

Uy St L DuUSHH
a. LDEH&F6T LJL & 1. ULDIRI&ET
b. Qurstt Y& 2. erstnQlsnl €)% 5)& &6
e UL LU Uyl & 3. WBsirsen 2 Husd
d. Beol Yyl & 4, 2_(HEOMESILDHIEG
abecd
A)1 2 3 4
By 2 1 4 3
3214
43 21



4,

Which of the following statements are true about Mapping Skills.

:

A map should include the following components directions, scale,
grid system, projections, legend, conventional signs, and symbols.
The statement scale describes the relationship of map distance
to ground distance in words.

The Legend which are placed at left or right corner at bottom
of the map

A) 1&2are Correct
B) 1&3areCorrect
C) 2 &3 are Correct

D) 3is Correct

4. BevaumuLalwued sern Smeulidled QG Fahmiseisd samey
eflwimsmeme?

L

@ BeoaumpluLgHled Henaser, siemeney, susmeoliiflsiresd
Sy, Gar_ s Lbnpib wWamnsSmuiGaEst
Bmius SiuSWLMEGLD.

flevausmyuL Hlsolsnen ST HDID 2 ETeNLDUITET
Fipsdemen Uil QeugQermaeisd GHILUGauS
QETELRLETENE (LDEHMIIMEGLD.

HlevsusnuLsé GHiuy ausngul_sdle G L& Sikbavg
aUeLG cpsUT@GM&ESUILL G (H&GLD

A) 1 WLHmID 2 &6
B) 1 whmib 3 &f
C) 2 WwHmwb 3 &
D) 3 L@ &f



5. Match the following colour codes with features used on map
a. Brown - 1.5and areas and dunes
b. Dark Blue 2. water features
c. Light Blue 3. National waterways
d. Green - 4. Reserve boundaries

I

]

5. HeoaumruLmfusafsd LwsTuGSSILEL RD&GHLIE smean
QU5 815.

a Loy - 1. LDEBUIEL UGEISET WHMID Gemisen
b. &(HBeuLd - 2. B Hensoaen
c. QeueMjBeod - 3. Cu&fw B euflser
d. UFmE - 4, QUaMULG S
a bcd

A) 1 2 3 4

B) 1 3 2 4

C) 4 2 34

D) 4 32 1

6. Read the passage carefully and choose the correct options from

below.

It is a computer-based tool and was recognized by waldo Tobler and
Roger Tomilnson in 1950. We must have a coordinate, an address or a
distance from a known point that helps us to link the information to a
location on a map. Google Maps and Google Earth are the prime
examples. Name of the tool mentioned in the paragraph.

A) GIS

B) GPS

C) Remote Sensing

D) Bhuvan



&,

Slpsangmb USHdW Sauanons Ligss sflwmer aflaLsnil
CEiHOSGEsaD.

1950 g4l gem@ eumebLm Lmlen) womid GComggd Lmbedsrgss
SECWflesr sal (@ PUHUND 2 maurdslulL @& sefah
FMihs SGHOINGL. auaTuL S5 HLeES SINWEHTE Gk
9 sms siNbs Qsnemen, sNwsLTEr GG WsANIOGHS
@ememiiy Qubm SEausdsme @HRCS Qup Wb, G506
Sa@e BlevsusmyuL th WHMID Fa@st yall wrdflenu o sryaumors
a@sgEQsemsnancond. USHUND FamuL_Geren s@ailulish Qusn
Qafley QFls,

A)  UeHsEeusd SimDUL (GIS)
B) 605 MLOETIL MIGeT

c) Q& menew hietn som|euuiiey

D) LieesT

States covered by Chota-Nagpur Plateau in India
1. Jharkhand

2. Uttar Pradesh

3. West Bengal

4. Bihar

5. Madhya Pradesh

A) 1,2,3
B) 1,4,5
C)] 1,34

D) 3,4,5



Cam_Lmpraufl Gy @iHwnaNed ugallujster wmBeorise
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2 $SITUINCHE LD

Cum@ sumismtenth

demiy

W&Hw NFCHEFLD
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